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When the leaving vehicle confirmation mark can be gotten by parking to the illegality. When the driver of the vehicle can
not specify. The paying of leaving violation money is ordered to the employers of the vehicle.
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It went shopping with the vehicle in the supermarket. When going out of the parking lot in the supermarket. Because the
sales person in the supermarket indicated. The safety—check entered a thoroughfare without being.
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When the streetcar stops. After that, it is necessary to stop. When there is a safety zone, it may pass, not slowing down.
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It is only the moped, the bicycle and the small special vehicle that can pass a cycle track.
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When operating a moped. It is thought of as putting on a helmet for the ride if putting on a helmet for the construction.
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When running fog. It makes a dropping headlight down warding in the speed. It uses a horn as occasion demands.
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When the policeman is raising an arm levelly. The traffic which meets the body of the policeman is the meaning which is the
same as the red light of the traffic light.
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The child had a yellow flag at the intersection where there is not pedestrians crossing and tried to cross. It sounded a horn
and it gave advice and it made resign from the crossing.
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The automatic car had better ride after it warms up an engine.
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The moped. There are more than three traffic lanes. When turning right at the intersection at the road where traffic control
is done. It comes as much as possible beforehand to the center of the road. It is necessary to pass while slowing down just
the inside of the center at the intersection.
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When doing overtaking. After judging the speed and the distance between vehicle of the vehicle in front and so on. The
overtaking must be done.
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It is a place with little traffic. It may hang inconvenience on the other vehicle as much as a little. It thinks only of its con—
venience and it should operate it.
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When it is necessary to pass across the side strip. It stops in front of the side strip and it is necessary to make not hinder
the passing of a pedestrian.
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When doing a parking and stopping at the road where there is sidewalk. It moves to the left end at the roadway.
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The route bus exclusive vehicular lane. The moped, the light special equipment can not pass.
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It is to ascertain whether or not the train doesn’t come that it stops at the railway crossing. To confirm to that status of
the railway crossing isn’t necessary.
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It is sidewalk in front of my home. It may park my moped.
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When loading the carrier of the moped with the load. The width must not exceed 0.15 m on either side of the carrier.
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The slow down is to operate at equal to or less than 1/2 pieces of speed which is prescribed by the road sign and the pave-
ment marking.
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It isn’t possible to be operated by the moped when it doesn’t join to the automobile liability insurance.

40 BLAAf U 7ALIRICI TS EE D L EEH SN AD T, 2D L7 A0 5RA B 1L T~ 57290108, RO F 1 3 R hadE 32801295,
A stolen car is often used for the crime which used a vehicle. To prevent from such a crime, too. It makes the owner of the
vehicle latch surely.
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When the vehicle continues after the crossing gate at the railway crossing rises. To stop isn’t necessary.
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